Dr Oliver Mathematics
Algebra: Part 1

1. Solve
32:(:2—790-‘,-3 _ 4902—@‘—6‘

Solution
Well, we need to factorise.

add to: -7 6 1
multiply to: (4+2) x (+3) = +6 ’

22 —Tr +3 =226z —x +1
=2z(x—3)—(xr—3)
= 2z - 1)(z — 3).
add to: -1
multiply to: —6 } =3 +2
2 —1—6=(r—3)(v+2)
Interesting, isn’t it, that they both have (z — 3) as a common factor. Now,

32J:2—7a:+3 _ 4:1:2—:5—6 = 3(2m—1)(x—3) _ 4)1:—3)(:12-%—2)

- [3(2x—1)]($—3) . [4(x+2)](x—3)
= ln[ (20— 1)] z=3) _ [ m+2)](x—3)

—3) n[32x 1]_ v [4(x+2]
( 3)n[32‘”1] (z — [4:c+2]:
—3) (I [3* 7] —In [4 ”2])
( —3)[(22—1)In3 — (x + 2) In4]
=zr—3=0o0r (2z—1)In3—(x+2)In

1
1

z—3=0:
r—3=0=2=3.




(22 —1)In3—(z+2)In4 = 0:

2z —1)In3—(x+2)In4=0= (22In3—-1n3) — (zIn4 +2In4) =0
=2rIn3 —xrn4d =13 +2In4
= 2(2ln3—1n4) =In3 +2In4
In3+2In4
_ 23— In4’

= T




